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Note : Four possible answers A, B, C and D to each question are given. The choice which you think is correct,
fill that circle in front of that question with Marker or Pen ink in the answer-book. Cutting or filling
two or more circles will result in zero mark in that question.
D C B A Questions / =iy A
Z Xy R A4 The eWABLZUxIyIVIW l
vy v % fourth proportional w of x:y:v:iw is :
o R © o .l 9
,;,zba,f ;gajg o )Vu'u//,-f A data in the :‘LL“M;.V@J’_J(ZJ Sod | <
Grouped data | Histogram Range Un%r;[l;ped form of frequency distribution 1s calied :
H'}i;)’}-dj{uugHJJUqu;ﬁﬁgﬂﬁu{f 3
. o . . The length of a chord :fyz,,ud'//
75 60 45 30 and the radial segment of a circle are
congruent, the central angle made by
the chord will be : ]
' u:' B e : c‘;t‘/)fc;b@f/:}é.(afb 4
* ) - Through how many non-collinear points
Four Three Two One can a circle pass :
. , ) 1 Sl TP — ot &= Ol |2
3 1 5 o If a , P are the roots of L esiof
7x* —x+4=0 then aff is :
3600° 630’ 360’ 1200" 200 = — — — 6
7 Jv e w Ic“_C‘U»zf b Ke 1 7
Chord Tangent Segment Boundary The circumference of a circle is called :
+ - I, 1 1 {8
g—-——’[i o ﬂ -l——i —1— = 18 cqual 1o . :“:_/‘l/.* + —
aff af a p a a P a
.- - -9
: . : Jdsta Jfabiic:
,’/t,_u/: Y TR o u,?LU/d.u a Jfa:b::c:dot
Third . In a proportiona:b::c:d,aandd
; Extremes | Fourth proportional Means
proportional are called :
2 2 _ 2 ] = 10
— ax® = bx, ax“ +bx+c=0 bx+c=0, A
- 0,620 . SRl :ggf’d/gvd/:abl/&u»
a#0 a#0 b=0 Standard form of quadratic equation is :
= prit /Ci.' = =i : 4".t'nj§ﬁljic'¢/(ijf---£/)k}{2 i
Place Origin Ratio Value Mean is affected by change in -——
d}[}'» 55(‘. djl?ﬁ; 4 UJLﬂ-v-u:J:TJVZ':g/“Uﬁ/'L/’;Z:L,;U 12
e _ Tangents drawn at the ends of diameter
Parallel Collinear Non parallel Perpendicular | of a circle are --- to each other :
{g.{ayi | {a} {4} ¢ etrermferde |
Power set of an empty set is :
Py g»g};;»i@}g/;%%lﬁuﬁgﬁ/ 14
L) 4 ‘o'- , -
) ek Skl // 2 A fraction in which the Ldllz( sl
Improper ; 1 ; g ‘
oo Identity Equation Proper fraction | degree of the numerator 1s greater or equal
to the degree of denominator is called :
{} y B A 4“_1734/,‘/‘/\ M B?nAgB/f! B

If AcB then AN Bisequalto:
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(PART -1 Uit )
12 2. Write short answers to any SIX (6) questions : : 2 =12 &% £ =y (6){:_61( 2

(i) Define quadratic equation. g SeblaGurss @
x+4 x-2

(ii) Write in standard form : 40 S pEF G (i)
X = X
1 9
(iii) Solve : (Zx "5) -2 2 (i)
(iv) Find discriminant : 2x2 —Tx+1=0 :2:((}” 537 (V)

(1-@-a?) Eerad (V)
32+ Tx—11=0 : ZEpb pS bk 6 2L S S el (vi)
(vi) Without solving, findthe sum and the product of the roots of equation : 3x? +7x~11=0
_ér}” a Iunsls 45 sla+3:7+a S (vi)
(vi)) Find g, iftheratios a+3:7+a and 4:5 are equal.

B8 B a b=t 2a=3 J;laoc;lz—

(v) Evaluate :

(viii)
(vii) ac biz and a=3 when b=4,findawhen b=8

a ,3a2

Write short answers to any SIX (6) questions’ ;

3(ix)

12 3.
6))

Gi)

-é (’)L"'_./t’/""ﬁ? (ix)

@ ez L ey 6)z=ds 3
ZEaS P D
:édiuﬁ/grebf/,.els/fj}@u 61))

6x> +5x2 -6
257wz =1
ek AUB IB={358} « 4={2,3,57} i (i)
If 4={2,3,5,7} , B={3,5,8} then find AUB . l
e bEnd yxyiny={-2,1,2} /1 (v)
If y={-2,1,2} then make two binary relations fory x y. N
Finda and b,if (a—4,b-2)=(2,1) (a-4,b-2)=(2,1) fléi:(:h’ boia (v)

Find the third proportional to :

Define a rational fraction.

Convert the following improper fraction
into proper fraction : '

(iii)

Gv)
v)
vi)

Define a subset and give one example.

(vii) Define standard deviation.

S oLy ferd i)
B DA A (Vid)

—esu§Uy BN SIS 2,4,8 =is (viid)

(viii)
(x)

12 4.
(1

(i)
(ik}u )

Write two properties of arithmetic mean.

Define coterminal angles.

3
Convert — into degrees.

Write short answers to any SIX (6) questions :

Find the geometric mean of the observations 2, 4, 8 by using basic formula.

-é{/}c«yr‘;u(ﬁyﬂ(}(/ @(x)
: @z B L iy (6)g0S 4
EEy PSu 2 @D
s/ 5137” (i)




L MR~ 122

©))
4. (i) Findrwhen £=52cm,0=45" x0=45 s l=52cm 2gipteddr GiD) -4

(iv) Prove that : (1-sin@)(1+sind)=cos> O S (V)

(V) Define obtuse angle. S (W)
(vi)" Define the length of the tangent. -é.._éf /7 i éUJ J (v
(vil) Define circumference of a circle.- ZEy Sbrle 1y (ViD
(viii) Define an arc of a circle. -Ef:/ .y SUiss  (viid)

(ix) Divide an arc of any length into =y f:ﬁ S fyssd TS .{ld/@un)’( (ix)

two equal parts.
(PART -1 f12.2)

Note : Attempt THREE questions in all. <y 9 / Jlr‘dg -gwylﬁécpmyuf J/ Ly
But question No.9 is Compulsory.

4 5. (a) Solve the equation : 2t -11x2 +5=0 g f e (D) 5
(b) Provethat : e =(x =) (x—y)(x—0y) éﬁ.‘/h’ ()
4 6. (a) Find x in the proportion : :é()’*c,ékfx St (D) 6
2 2 P3‘q3 2
P +pg+qix {(p-9)
p+q
2 "
4 (b) Resolve into partial fractions: ———)5;23)ch 2':&5‘{ By ()
(x=1)"(x-2)
4 B={1,4,710} sA={1,3,57,9} U={1,2,3,4, - 10,1 () 7

A—B:AmB’fé&b"é‘?
7. (@ U={1,23,4,--- 10},A={1,3,5/7y9 Yand B={1,4,7,10}
then verify A-B=ANB

4 10,8,9,7,5,12,8,6,8,2) » S ey (o)
(b) Calculate the variance for the data : 10,8,9,7,5,12,8,6,8,2
4 8. (a) Provethat : secd —cosf = tan @ sind e (D) 8
U3 3 5z AU CA o BC « AB Ll £ tnlini FAABC (L)
4 (b) Inscribe a circle in a triangle ABC with :
|AB|=5cm , |BC|=3cm , |CA|=3cm
8 -u,?Z.me?‘ﬂ,unﬁlﬂ‘wuj)L»Lf/;?]}):ié.//bfé&:t‘ 9
9. Prove that two chords of a circle which are equidistant from the centre, are congruent.
OR {

Prove that the opposite -t s&s10 jrf.‘ut’ &l b L gd:/’i)g}/ c,/’f;u/ L ’c‘i: o
angles of any quadrilateral inscribed in a circle are supplementary.
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Note : Four possible answers A, B, C and D to each question are given. The choice which you think is correct,
fill that circle in front of that question with Marker or Pen ink in the answer-book. Cutting or filling
two or more circles will result in zero mark in that question.
D C B A Questions / =iy 7
aJtac=»" ‘a:b=b:c,4/li'Jy I
o Gz 2 a9 . :§.VM,/L{.---buy/;£c 2]
Means Fourth Third Second In continued proportiona :b=b: ¢,
. ac=b? bis said to be - proportional
between « andc:
o il 2
" sz s Lol : A‘AW/)!J,:{{&!MJ:;VU//
” uLé’/&// . A’”'. ’ The spread or scatterness of observations
Mode Central tendency | ,Dispersion Average in a data set is called :
S 60 560 £ 1 40° 1138 67 L1 | 3
80° 60° 40° 20° An arc subtends a central e {s0aeee st
angle of 40° then the corresponding chord
will subtend a central angle of : .
n o . 1 retf e A EEL 0, |
% - Through how many non-collinear points,
Four Three Two One can a circle pass :
2 ) 2 — —~ Y
ax” +bx+c =0, ax” = bx, wl=0a20 bx +¢=0, ::E.gﬁd/.l:vp(:«lﬁbfu’.uu ?
a#0 a #0 ’ b =0 Standard form of quadratic equation is :
cos¢ 29 2cos’ 0 2sec? 0 T S 6
See €08 o 1+sinf 1-sind
iwé?gJVJ?£LUJ;$JLNL/J‘1) 7
4 3 2 1 How many common tangents can be
drawn for two touching circles :
u=v% u=wk u = vic? u = wk? Ifg=~v—:k then : Jnl=Y -1 /i 3
v_w v W
i A @t sty - a_b If :‘aoﬁdw?xa:b:x:y/f! /
* ¥ b Y B x a:b=x:y ,then alternendo property is :
2 el —1|10
“l-w.0* L-o~0’ | -Lo,0® | ~L-o-0 Ly
L-o,0 Cube roots of —1 are :
& g o e e b i S el | 1
Place Origin Ratio Value Mean is affected by change in --—-- :
¥ifd s Y Y ?LGLGUJ;Z#:C_%&;%%%//UQ 12
: wo tangents wntoacircle [ [fd-sre
Triple Double Equal Half from a point outside it are of---- in length :
e SISl e L{1,2,3 1 | 13
9 8 6 4 The number of elements in power set of
{1,2,3}is :
An improper e N e 182 iyl
fraction A constant term An lantlty A proper fraction (x = 1)(.7( + 2) (x— D(x+ 2)
v 111 I I e bt (—=1,4) 55| 15
Point (— 1, 4 ) lies in the quadrant :
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(PART -1 J;!.ﬂ )
12 2. Write short answers to any SIX (6) questlons : o e ez A L iy (6){:.‘}:( o

(1) Solve by factorization : 2 ~11x=152 2: J’ S, f 2% (1)
(i) Solve the equation using quadratic formula : 2 f c;JL"f/ILUerJ.m;/ bl (1)
6x> —3-7x=0 i
(iii) Define radical equation. Ey ey e (iil)
(iv)  Find the discriminant of the given quadratic equation:  : Z%, (}L‘” 0T fbetolbr By (i)
o . 9x? —30x+25=0
(v) Write the quadratic equation having roots : -2,3 . hala(d, ;wduu’ 2 (V)

(x2 + Tx = 1)+ (x+1) ..»éf)”dm_fu"’xmu,ﬂw/ﬂ o7 (i)

(vi) Use synthetic division'to find the quotient and the remainder when (x* + 7x - 1)+(x+1)

(vii) Find a third proportional’to D g a,{r,‘# U2 (Vii)
(viil) Define proportion. Il (viid)
(ix) Find the fourth proportional to - 8,7,6 &k Gy (i)

12 3. Write short answers to any SIX (6)/questions : : ¥ T 4 /‘? L =iy (6){4_31( 3

(i) Convert the improper fraction into properfraction : @ Z= fur t S N AN )

6x° 4+ 5x° -6
2% &1
(i1) Define improper fraction. AR RPN )

e eiSA-B IB=W 5 a=N [ (i)
(ii) If A=N and B=W then find the value of A — B

S Y- X 7Y ={4,812,—— 24} X ={2,4,6,-~-~20} 1 (iv)
Gv) If X ={2,4,6,-—-~,20} and ¥ ={4,812,——,24}, then find ¥ - X
(V) If A={0,2,4} thenfind A x A e AXATA={0,2,4) 1 (v

Pl 2 LxM JxM={d e, fg} sL={a,bc))i (vD)
(v IfL= {a,b,c} and M= {d, e, f,g} , then find two binary relations in L x M
(vil) Define mode. oyl (vid)

12,14,17,20,24,29,35,45 & badloc 3 bortn, (viii)
(viii) Find the arithmetic mean by direct method 12, 14, 17, 20, 24, 29, 35, 45

(ix)  For the following data, find the harmonic mean : ngr}wb;lugfﬁﬁclrd:’g/ﬂ (1x)
(X [125 18 [2 ]

12 4. Write short answer§ E{ any SIX (6) questions : : 24 ez A L iy (6){4-8[ 4

() How many minutes aréin two right angles? L sl a U265y (3)
(i) Find ‘r’, when £=52cm , 9=45° 0=45° < (=52cm GaEeb =3l (i)
(ﬂ!g}/} )
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2) [ -2 23

4. (ii1) Convert 225° into radian. e tead 2250 (i) -4
(iv)  Verify that : S;g:g +cosf =sect D ek (V)
(V)" Define zero dimension. E Pl el V)
(vi) Define tangent to a circle. Syl owle sy (Vi)

(vil) Define circumference of a circle. -éb.éj /7 J L¥ Lo 2y (vid)
(vii1) Define perimeter. _EE oy P (viiD)
(ix) The length of the side of a ?(‘_g}blKJ1-r‘_(’SJHJéJ£u}(£”..Q (ix)

regular pentagon is 5 cm. What is its perimeter?

(PART -1 #5:0)

Note : Attempt THREE questions in all. _q_d/'v 9 /‘ dlr’ug .z:!.;ylziamyd J’ O
But question No.9 is Compulsory.
4 5. (a) Solve the equation using quadratic formula : : £ f e el blommfen- () .5
x+2 4-x 1

x-1 2x 3

4 (b) Prove that : D S (O
x3+y3+z3-—3xyz=(x+y+z)(x+a)y+wzz)(x+a)2y+a)z)

4 ot 5= P St FEEEIP LM 5 g s e (D) 6
r—q s4#3p s-3q

6. (@) Using theorem of componendo-dividendo , find the value of
s=3p N s+3q i 5= 6pq

s+3p s-3¢ rP—q
5 y . 6x> +5x% 47 L 2 i
4 (b) Resolve into partial fractions :  ————~~ & K8z (L)
3x*=2x~1
4 B={1,47,10} sA={1,3,57,9} U={1,2,3,4,—, 1031 () 7
(B—AY =B UAJSEZE oty
7. @ IfU={1,273,4-,10},A={1,3,57,9}and B={1,4,7,10},
then prove that (B—A4) =B'U 4
4 (b) Find the standard deviation "S " : 5"}” "S" LA (&)
9,3,8,8,9,89,18
4 8. (a) Verify the identity : sin® @ = sin @ —sin@cos” @ el (D) 8
4 ot 5 BUSE 21 Bt ¥ABC st (L)
(b) Inscribe a circle in a equilateral triangle ABC with each side of length 5 cm.
8 -ZUJ«'J‘WUJL—’L}(/M?U!"J V‘]}:)LL]D/!,(Z:(:«:E‘ 9
9. Prove that if two chords of a circle are congruent then they will be equidistant from
the centre.
OR L

-4‘-__t'nl’fu:;é,;lj;r‘;ﬁu/ﬁ/gj}w&luf/lﬂ:ﬂjd}r/ Ul;&f_ca/f’u’;ufd.//l)u/fé&b’
Prove that the measure of a centrai angle of a minor arc of a circle is double that
of the angle subtended by the gorresponding major arc.
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